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36. 7254+98 o3 dicSe Hoyy 228 dFhdorr
grAoSpsS t%:&aé‘ aodsehs wcl
The seven digit number 7254+ 98 divisible by
22. Then the digit at = is
1) 0 2)1 3) 2 4) 6
Solution:
Answer -3
22=11x2
&8 Sogg 11 bk 208 grofamrd. Kgor
efdy Psos® $Bwos Hob sHs 23
grhodathimad.
©0 o FoBo =T+5+%+8=20+*
80 rro Ido 24449=15
Difference=multiple of 11
204+*=15=11
=*+5=11]
=
37. 530 Srd S £O 0 Dohde thowe
fconor Spe Sogy
No. of lines passing through five points in which
any three of them are non-collinear is

1) 10 2)9 3) 8 4) 5
Solution:
Answer -1
o 506-1)
Sehs Sye dogy = 3
_5x4
T2
=10

38, 45'-45"-90" % froliolds acd TP YD
Bpe K:oq:&
The number of lines of symmetry in 45°-45°-
90° set square is
1) 0 21
Solution:

3) 2 4) 3

Answer -2

D

n@g

39. 18 Ro.lo. H0dks 14 Ho.f. Doh gherenre
BORS (8gherls (Bob Fods’® Srtdehuorr aot
5018 ( Do.fb.odf)

The following can be the length of the third
side of triangle whose two sides are 18cm and
14 cm is (in cms)

1) 3 2) 4 3) b 4) 32
Solution:
Answer -3

18—14<x<I8+14

=4<x<32

= (2:8y% options od)

40. =¥ vonS'n (Bbedeapw 150 0.8 vontine
2DRY (Bgbe rod’ 258 20 o.ds. vwond ©
(Bgbe oty Fod (Ro.d off)

Area of right angled triangle is 150 cm’. If one
of its perpendicular sides is 20cm then its
perimeter is (in cms)

1) 20 2) 35 3) 50 4) 60
Solution:
Answer -4 As130
= Lbh=150
15 d = Lu2oxn=150
O =[h=13
20

www.facebook.com/ntnipuna

d=20"+15°

=/400+225

=625 =25

41, 4R Tyigort SONS el Beee (i
Sored’)

The area of a semi-circle of radius '4r' units

is in sq. units.
D 12n 2) 8ar® 3) 4n’ 49 2’
Solution:
Answer -2 _X # 5
= 3 ‘.rl:{4r) =
1. .
A= Em’ 1 z =A =8
= En:lﬁr‘

42, ef SHIE SgEn 18 T, . wond oo gheo
(Do. o&f)
The diagonal of a square is 18cm then the side
of a square is (in cms)

1) 6 2)9 302 4 82
Answer -4
V2a=18| -d=+2a
o
J2
a_gxﬁxﬁ
V2
=|a=9V2]
4 3 2
n n n
43, n=d eoudiph —+ -+ Qe
4 2 4
If n=4 then th I I'Ej-+—‘+i'
n en e value o 4 5 1 15
1) 28 2) 84 3) 100 4) 112
Solution:
Answer -2
n_4 £+n_‘+n_1_£+4_‘+4_:
42 4 4 2 4
=4 +4'+4
=64+16+4
=84

2 1
44, If-x =5 X =4 then x value 7(x0e Jo8)?
S

1) 4
Solution:
Answer -4

2) 8 3) 12 4) 24

4x-3x
== —=
6

=>[x=24

45.  x, 2x, dxo Eo¥) Do 12 wond Sovedo
Too's) woSHgdoo
if the median of x, 2x, 4x is 12. Then mean of
the data is

1) 6
Solution:

2) 12 3) 14 4) 24

Answer -3
B = 12
=2x=12
=x=0

6+12+24

- 6,12.240 @céa’mégé)oﬂ\flean) = 3

w8

=14
46. T [FB0H0T Kol Do
The tally mark that represents the number 7

D OMH o2 w3 wn o
47. 127.1 + 1000 Dess

The value of 127.1+ 1000 is

1) 01271 2) 1.271 3) 1271 4) 1271
Solution:
Answer -1

B71_ 1271
1000

48. 28y 6% cm Hbdio Ides) 3 %cm ™ $DAS
BYSHBES Prrage (.0, off)

The area of rectangle whose length 6% cm

and breadth 3%cm is (In em?)

11|3% 2) |3% 3) 22%4) 22;*/2

Solution:
Answer -3 _ Ex Ed
i
A=Ixb " =22 %

=61 ]
—béﬁé 2

49. 1 80c¢hHT % SEeSNs
1 Billion is equal to

1) 10 millions 2) 100 millions

3) 1000 lakhs 4) 1000 lakhs
50. 3,4 580 9o T Toss Sl Fm Hodwe

do

The sum of first three common multiples of

J4and9is

1) 108 2) 144 3) 216 4) 262
Solution:
Answer -3

LCMof3,4,9= JM

1,4,3
=36

Sotid st anéu‘ég roderen = 36,72,108
Swdo = 36+72+108

= 216

51. 2: 3% wdomr Sy

Convert 2:3 into percentage

200, 200 2 100
Yo % % 4)— %%

D 3772 3007 3 3507037
Answer -1

2, 100% =22,

3 3

B2 Vit wsmss Pifo

B%os® wE0d dmesore B¥ost &0 Br8o 3%08° Hoad SAGEI e &S Jisso
&3 Bew D&? ©0Sre8o Ben DE? EOR ) Seo A& ? 908030 QoY 353
sdsg0 Beo A& ?
= Dz ABYBO (Darib-
Bohe &6 Segosee) &858 T (BHBS AE)@R) FER08 6

The following fraction is equivalent to %

n %

Solution:

2 Ys B As o Y
Answer -3

3
9/ — -
from option (3) %5_]5

53. =62, -87,-12, ..... (o’ Somg Sogg)
The next number in the pattern —62, -37, —

12
1) 26 2) 13 3) 0 4) -13
Answer -2
+25 +25 425
-62, =37, =12, -1
B4, eolo HED Y Sogd bk BoticTe L&D
B Homg He Piso

The difference between the largest four digit
number and the largest two digit number is
1) 90 2) 900 3) 9900 4) 9990

Solution:

Answer -3
9999 — 99 = 9900

55. & Jo% «F Wndo 571250 JDoDE 2
Sodgrred® e BQo0K €8 Indo (Crirdbed
Padma paid on amount of Rs.1250 per month
as rent, The total amont of rent paid by her
for 2 years (in rupees) is

1) 12500 2} 15000
3) 25000 4} 30000
Solution:
Answer -4

1250 = 24 = Rs.30,000
56. i b (BEES Hogge Hovt
Average of first five numbers is
1) 5 2. 44 3. 5 4. 56
Solution:
Answer -4
2+3+5+7+11 28
e
57. o Sog 50 Dbk 60 i ¢ob. & Hoggh T4
ol dho 1 $%ob. vond @ Sogy
The number lies between 50 and 60. If leaves
a remainder 1 when it is divided by 7. Then
the number is

5.6

1) 51 2) b5 3) 57 4) 59
Solution:
Answer -3 57 & 7 3 gpAT) 3o 1 Sik0b.

58.  af 8 el S 5m.300 50 Gr. 3205 ey
@88 SS orgerdo ?
A person bought an article for Rs.300 and sold
if for Rs.320 then his gain percentage is

n 6% 26,
Solution:
Answer -1
308 — 26
15(Den)  1(Num)

3) 15

4) 20

1 20
i e )
..]SXIOD— 3 —6A%

DY Eoes
3355, 5868 96 50,5,
D508




